Research Assistant in Evaluation and Applied Research Department
(Tamil Nadu General Subordinate Service) - 22.01.2022

1. E.V.R Maniammaiyar ninaivu marriage assistance scheme is meant for

a. Orphan Girls b. Couples of Inter-caste marriage

c. Daughters of Poor Widows d. Widow Remarriage

e. Answer not known

F.CeLgT.  efWbeWTT Henera SHpwent 2 HASHU LD _  DeUTHEHHHTH
9 (HEUTSHSLILIL (HEITeng).

a. SLFHTAUBB  CLIGKTTHEIT b. sevliys Hmoewid GFUIUID HDLISHB6
C. gD lHEMEUWIT LDSHGITHEN d. elgemer mILDEILD

e. alewL G fwalsdensv

2. Sri Naryana Guru Swamy initiated a programme of action called Sri Narayana
Guru Dharma Paripalana Yogam which took up issues regarding:
1. Encouraging inter-caste marriages
ii.  Right of admission to public schools
iii.  Recruitment to Government schools
iv.  Access to temples and roads
a. 1, 1i, and iii b. ii, iii and iv c.1,iii and iv
c. 1, 1i, iii and iv e. Answer not known
fETITWen  GHET  SHleumdSlw,  BIgTwent ST uflumever  BussD  6hS
alaguimisemen (LPeTele(BHHSHI?
1. H60LILG FH(HLOIHMmS 261865 H60
1i. QurgIl ueTefdefed SiEnIDg)
1. oga ueelsefled BHih0%HHEBLILIGEH60
1v. Garelevser LOBBID FTenevdeied GFs060 SinID)
a. i, ii b iii b. ii, iii wBpId iv
c. i, 1ii oBmIb iv d. i, ii, iii w@Bpd iv
e. alemL G Mualevenso

3. Electron was discovered by

a. Newton b. ].J. Thomson c. Roentgen
d. Chadwick e. Answer not known

TOLSHLTTe6edT HTBLNQSHHAUT __ HLeuiT.

a. mugl L et b. 02.0. HTbger C. [JTERIL 2363
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d. gm’els e. alenL Oxflwalsdemev
4. Fraunhofer lines are the example of ____ spectrum
a. line emission b. line absorption c. band emission
d. band absorption e. Answer not known
SUgmenr..u euflese _ mImIOTeNevHE 61HSHHISITL B SLESLD.
a. aufl Geuaial® b. aufl o 1" &eu C. UlemL Geuaial®
d. ulenL o U seuf e. alenL O flwalsdemev

5. The institution of ombudsman was first created in

a. Norway b. Sweden c. Denmark

d. US.A e. Answer not known

GMBHTHGLD MWD 6THIG (PSH&T (LPpHevled CHTHBmIaNSSLILL L @) LD
a. BriGe b. #ai_er c. GLenonia
d. oCwfasT e. alewl OFHfluialsvensv

6. Article 326 of the Indian constitution is related to which of the following?
a. Election to the lower house to be based on universal adult suffrage
b. President
c. Parliament
d. Supreme Court
e. Answer not known
b ordwevemoriiar 326-b ald Hp STMILILGD  eTeneu/elend  GHNoHHRIBE
(LBBlwg)?
a. WoHmaUbHTal  CHTHed euwgl aubBHTT  euTeh@GTenD-a61  HIQUILIGHL U0
bLSHBIOSI-
b. @uwirgHsHHmeveT
C. LIMJT(@HLDGOIBLD
d. o &5 pdoemid
e. alemL G fluwalsvenev

7. Which one of the statement is not correct regarding the Trichy Proclamation
i. The Proclamation was published by Marudu Pandiyar
ii.  Itcreated a confidence among the people
iii. It not revealed the National feelings
iv. It condemned the political activities of Carnatic Nawabs and
Muhammad Ali
a.ionly b. ii only c. iii only d. iv only
e. Answer not known
SpHHMILaBMled FH(HFF UgsLend uBm HeupTel Famml 61H?
(i) @udysLend wmSHILTENIWITESMTeD GeuefuiL L g
(i) @uiysLend WoHHEHHE BLISmBMWL FBUBSH WIS
(iii) JysLend Caflw HAbsmermw GeuallILBGHHUSTS DIEMLOLIETEO6MED
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(iv) oBstG Beuml BB  (WPswa  Dedulesr  SIFLd  [BLEUQHMBHEMET
BUITHLeID H6wTgHHSHI.

a. 1wl B b. ii w1 Bb C. iii o”(BIb d. iv 1o @b

e. alewL G flwalsdenev

8. TN tops in the production of the following crops, except

a. Banana b. Coconut c. Plantation Crops
d. Cardamom e. Answer not known

uuwit o BusHHuled 6bhd LulmrsHsaly SOWSD (peitereaiullsd © eiTeng
a. euTenLpLl LpID b. Gamismul c. GamLil uulirsei
d. gevdasmul e. alenL O flwealsdensv

9. In what time will X 5,600 amount to X 6,750 at 6% simple interest per annum?
1
a. 3 Y2 years b. 3 - years c. 2 V2 years

d.2 %years e. Answer not known

ashpmar  opemihaefled T 5,600 suemihibE 6% seflaly alssded I 6,750 s
® UI(HLD?

a. 3 Y2 eu(pLmikeiT b. 3§m@|_r5'1556ﬁ C. 2 Y5 eu(pL_mismelt

d. 2 %6)1@_@&361'1 e. alenL O fluwalsdenev

10.Hiuen-Tsang visited Kanchipuram during the period of
a. Mahendra Varma I b. Narshimha Varma II
c. Rajashimha I d. Mahendra Varma II
e. Answer not known
W[GUT6ST SeUTmHI WIT(HeOL W S Fdb STe0HHe0 STehFUTHHMES aumems LfiHSHTT.
a. (WPpFHeoTd GHHSITEUTLO6T b. waeorid HrgliboaTDEsT
c. ®ymey Sibwer | d. @yewi_mb 18 euTLDGST
e. alewL G fwalsdensv

11.The member of Shivaji's Astha Pradhan who looked after foreign affairs was

a. Sumant b. Peshwa c. Mantri

d. Pandit Roa e. Answer not known

Ffourxd gFeouuiler ‘Slad FHTellsd’ Geusluipe SIMFFITS GFUIEOLIL LT wmT?
a. GiopHd b. Uageur C. WhAM

d. uewngl gmel e. alenL Gxflwalsvenev

12.State the following true statement about Special Economic Zone (SEZ)

L. There is duty free import of raw materials for production

II. 100% IT exemption on export income is given for first 5 years in SEZ
units

a. I only b. Il only c.Iand IT only
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d. None of the above e. Answer not known

Ledteu(pld FBLIY QUITHeNTSHTY LWL 60D LML ©_6WIenLOWITel Falenm  GMILILI6H

I. o BusSHasTer cpsoll GUTTHL SEHoHE aufluisdeoT EBdéEHIDg)

IT. paped 5 eIBHEHHG GBMILS  auBLTaIHHe0 100 alwpdsasth aufl  alevudE
slefsaliuGEdBal (SEZ units)

a. ]l @B b. I w1 @Gib c. I iommnd II ot Bib

d. Baumnfled eigIaD BeLen6v e. alenL O flwaisdemev

13.Every year, “Human Organ Donation Day is observed on

a. May 1st b. August 13th c. October 20th

d. December 26th e. Answer not known

@6lCeuT(H LewiBlD “loedlldh o mii SHrend”’ SHerord Camer T LG [HTeiT
a. Guw, 1 b. sysev®, 13 c. 91&GLmuT, 20

d. wgbum, 26 e. alewl OFHfluialsvensv

14.Why the Kanyakumari district is famous for Rubber in Tamil Nadu?
(i) Dry Climate
(ii)Geographical locations
(iii) Adequate rainfall

(iv) Nearness to market
a.iand ii b. i, ii and iii c. ii and iii
d. None of the above e. Answer not known

SOD BTLIgeL HeeNWM@GLON WTeUl LD 61SH6lme0 JULHSEG LS OUBmleTend
(i) eupldwmer sTeumenev

(i) PHlev SiemioliL

(iii) Capemeuwimer Sieme| LOMLD

(iv) simpsTemwuied Fhend o 6Tengi

a.i mmib ii b. i, ii Bmid iii C. il Lommub iii

d. GuBaaplwer gsiblevemnev e. alewl OFHfluialevensv

15.Find GCD of x3-x2+ x -1, x4 -1

a.x2+1 b. (x-1)(x2+1) c. (x+1)(x2+1)
d.x2-1 e. Answer not known

BHEUm QuTgis smyenll &memnis: X3 - x2+ x -1, x4 -1

a.x2+1 b. (x-1)(x2+1) c. (x+1)(x2+1)
d.x2-1 e. alowL Gxflwalsdenso

16.1f the LCM of 3 and 9 is 9 then H.C.F. is

a. 1 b.3 c.9 d. 27 e. Answer not known
3 1oBm@id 9 Pl elewiseriar 5.8, 9 eleled Sleumslen L5.GIL.6.
a. 1l b.3 c.9 d. 27 e. alemL OGHflweaisdemev
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17.Assertion (A): Abul Fazal’s Akbar Nama contains three volumes
Reason (R): First volume contains an account of Akbar’s ancesstors,
second volume is denoted to the reign exhaustive
treatment of Akbar’s, Third volume has been given a
subtitle the Aini Akbari
a. (A) is true but (R) is false
b. Both (A) and (R) are true. (R) is the correct explanation of (A)
c. (A) is false but (R) is true
d. Both (A) and (R) are true. But (R) is not the correct explanation of (A)
e. Answer not known
gmml (A): SIL6L UTFeVlT SIBLIT BTOT 3 UTHHMSH OBTewIL G
smyenrd (R): WPHe0 umeslbd  Sdbufer  (perGemmise  uBBSlwg.  GFewILmb
utsld oisufler o devwit umpsl  alfleurdd Fapieud .  CPSIBTD LUTHD  SHuTeot
SIHLUMNGT Heoll  HemeoLiL|
a. (A) afl spemmed (R) seum)
b. (A) womp (R) au Srew o (R) s (A) olBg gflwmer
e &BLOTGHLD
c. (A sap gemed (R) &l
d. (A) vppe (R) e @rewiGe Ml epemmed (R) etaiiug (A) ali@ gfwimer
16 &HLO606V
e. alemL G flualedensv

18.Ibn Battuta visited in India during the time of

a. Muhammad bin Tughlaq b. Firuz Shah Tughlaq

c. Ghiyasud-Din-Tughlaq d. Shamsud-Din Muhammad
e. Answer not known

BUTET USTSHT STVHH0 QbHwTalBeg eallguid OFUISTT.

a. (1paBIDIDG L6 FHldberd b. QuUGyTervagT GHiderd

C. AwmerSiHSHe Hich6nd d. egberSseT (Lpamsibiog

e. alemL G fluwalsvenev

19.Satyendranath Tagore was the First Indian who was successful in Indian Civil
Service examination in the year.
a. 1861 b. 1862 c. 1863 d. 1864 e. Answer not known
FSOLBTHTS S, @bglul Gl umil GsTel awd Gapfl CUBB W&
Bhui opau. @bs Gsial awslw ouamib
a. 1861 b. 1862 c. 1863 d. 1864 e. alowL Gxflwaledensy

20.In the rise and growth of the self-respect movement, there are two phases.
Which is the correct statement?
(i) Rationalism
(ii) Atheism

5| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




Y CENTRE
CHENNAI

ApR€ L0 |

a.i b. ii c.iand ii d. None of the above

e. Answer not known

aw wilwremd BussddHer epFsFulebd, euenTFFuleud @Fesi® &L o2 6wi(b.
Seumpled 61 Filwimereneu?

() uvesHsHaIsD

(i) mreFsd

a.i b. ii C. 1 ommnd ii d. ergiaflevenev

e. alemL G Mualsvenso

21.Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13 cm ... 24 cm.
a. 5975 cm? b. 3813 cm? c. 4515 cm?
d. 3939 cm? e. Answer not known

11 @8, 12 QFi5, 13 QFb... 24 QFI6 UbD DeNa bamend OBTewIL 14 FHITHISH6T 60T
QOTHSL LUTLILIGNEY &HT6wI%

a. 5975 Q&1 b. 3813 Q&S c. 4515 Qa8

d. 3939 Q& e. alewL OFflwaievensy

22.1f sum of the three prime numbers are 80 and the difference between any two
numbers are 4. Find the 3 numbers.
a.2,31,47 b. 2,37, 41 c.2,11, 67

d. 2,17, 61 e. Answer not known

PGl  LIST  eTenidbeillell dnBdHe0 80. SleummleT @ elewisofenr Geoupt® 4 eredfleL
OIbDH CLPEITNI  6T6UTEH6IT

a.2, 31,47 b. 2,37, 41 c.2,11, 67

d. 2,17, 61 e. alenL Oxflwalsdamev

23.Match the following Authors and Books:

Author Book

A. Pope Francis 1. My Life in Design

B. Gauri Khan 2. Voices of dissent

C. Vikas Khanna 3. Let us dream

D. Romila Thapar 4. Kitchens of Gratitude
A B C D

a. 3 1 4 2

b. 1 2 4 3

C. 4 1 2 3

d 2 4 1 3

e. Answer not known
Netteuhd spFflwiT oeuT YHHSmISemenu|ld OUT[HSHHOTES DenewruiBHos:

SLFTWIT USSHHLD
A. Gumi Wymesrdlend 1. D 6M6VULI 60T 1QEmF6iT
B. Qe smeuor 2. aumuIFed SLl 19F 6T
C. alamerd seutemnrT 3. Geoll sjerd 19rfid
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D. Gymieor gumi 4. HFFeny o1 HITigioull
A B C D

a 3 1 4 2

b. 1 2 4 3

C. 4 1 2 3

d 2 4 1 3

e. alewL G fwealsdensv

24 Repo rate means

a. Rate at which the Commercial Banks are willing to lend to RBI

b. Rate at which the RBI is willing to lend to commercial banks

c. Exchange rate of the foreign bank

d. Growth rate of the economy

e. Answer not known

QUGUT &S eTaTLIGHET CUT(HeEIT
alenlld aumESHeT MaTel amdseEndd DeNd@GHD HL@ISHTHT alllg al&lSHID
M&FTel oURIS elewils ARSHEHHEG NG HLMISHTHT ol lg Al HD
SIpBHW OFevmeusnil IMBI l&GHLD
. QuUTmeTTHTT uenT&FS al&HlHLD
alewL  Gaflualsvensv

oo o

25.The book called as “The Veda of the Tamils” is
a. Devaram b. Thiruvasagam c. Thirukural
d. Nalaidiar e. Answer not known
HLOTHelenr Couspld 61eiml HMPSHSUILBLD HIT6V
a. Gxeumyid b. FHmeurgsid C. HmHGSmel
d. previguimT e. alenL Ogflwealsdensv

26.0! honey bee with beautiful wings (Kongu ther vaazhkai anjirai-th thumbi)
what is the second line of this poem Kurunthogai?
a. Maipattana Mamuga Musukalai
b. Kaamam Seppaadhu Kandadhu Mozhimo
c. Varaiizhi Aruviel Thondrum Nadan
d. Punakili Kadium Poongam Pethai
e. Answer not known
“Oammig GCaT ampsmaes DlechdFlenpd SO — 6aald OFTLmIGL GHBHOSHTENDL
uTL60ledT SJ6RILToUH DIy 61517
a. GOILILILL 63160l LML  (LPTid&hemeV
b. smob QFliurg sewi g GomHGoT
Cc. auemng B o(Haluled CaHTeiml HTL 6o
d. yesdel sub yrises Gums
e. alewL G fwalsdensv
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27.y :36 =2 :x=8:12. Find x, y respectively.
a.24,3 b.3,24 c. 3,54 d. 54,3 e. Answer not known
y:36=2:x=8:12 aafled X OBHWID Y LOGILSENET SHT60IH.
a.24,3 b.3,24 c. 3,54 d.54,3 e. alewL Oxflwalevenso

28.1f ] 782 be divided into three parts proportional to 2,2 and 2 then the first part
. 2’3 4
is

a. 205 b. 105 c. 200 d. 204 e. Answer not known
% % % o aldgh FogHed I 782 guegl NssLbGaBaE eafled, (pFHed LGS U6
OHTenH 616016017
a. 205 b. 105 c. 200 d. 204 e. alewL OFflwaievensy
29.The book “Racial Elements in the population” written by
a. Biraja Sankar Guha b. Romila Thapar
c. Satish Chandra d. Ajay Mitra Sastri

e. Answer not known

‘BB OFHTOBUID BT InnBIH6T 616 HITESeNeT 6T(LPHIWIGUT WITT?
a. UyeramisT @eamm b. Qpmbleor sl

C. FHaG FHAT d. omui 10 T greddi
e. alewL G fwaiedensv

30.In which State Dwaraka is the Holy place for Hindus situated
a. Uttar Pradesh b. Uttrakant
c. Gujarat d. Madhya Pradesh

e. Answer not known

bd  MHevSFHev  BbgHibdeilear  Laldd  Heomdelled  eImmer  HUTTHT
SDIMLOHHI6TENSHI?

a. 2 5387 LI8sgid b. 2_gyasmemi

C. GHXYTH d. wsHHuIFCmhaiD

e. alemL G fluwalsvenev

31.In which among the following is considered as the First Political Speech of
Gandhiji?
a. Banaras Hindu University Speech (BHU)
b. Dandi March Speech
c. First Round Table Conference Speech
d. Quit India Speech
e. Answer not known
SPHFHTaID  CFTBOuTaseled STHH WIS  (LPH60 DTFUWD © 6] 660
LBLOLBDSI 61517
a. uemgerd @b UeLHMeVdH SIS CIFTBROILMTLe)
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b. g wrsHey QFTBOLTe]

C. 360 el L BGengy BT GEFTBeUTHe]

d. GevsitenenuiBen OaueMCwB Buids CFTBEUT 6]
e. alemL G Mualevenso

32.Which candidate was defeated by Subhas Chandra Bose to become the
President of the Congress in 1939 Election?
a. Pattabhi Sitaramayya b. Jawaharlal Nehru
c. Rajendra Prasad d. Sardar Vallabhai Patel

e. Answer not known

1939-b oemip CxTapeded auTad &by Cumed epby GCoauluteneny CaHTBaHIYHS
SHTRIBTF T FHEN6LGUTTEITT?

a. ulLml Famymowiwur b. meuamieored G

c. gnGmpden LIysns d. gisrm eueveoLmul LIGL 6V

e. alewL G fwalsdensv

33.Aspects of scientific attitude are
(i) Critical observation
(ii) Intellectual honesty
(iii) Impartial Thinking
(iv) Reflective Thinking
a.iand ii only b. iii and iv only
c. ii, iii and iv only d. i, ii, iii and iv
e. Answer not known
SIlalwied e ILITeTenLoUNI6s  LIfl6mTTLOMIG6NT  6T6TLINE
(i) &by 2 BBCHTHH6
(il) omleunihs ChiTento
(iii) uneuTLBB Hbsenern
(iv) Urduedse Fbsemenr
a. i @b ii w1 Gib b. iii Bmib iv 1" Hid
c. ii, iii oBmIb iv 1oL BIb d. i, ii, iii woBmib iv
e. alewL G fwalsdensv

34.The “International day for Biological Diversity” is

a. May 22 b. May 12 c. May 2
d. June 12 e. Answer not known

‘FTauBshg o uliflen ueend’ [HT6i

a. Go 22 b. Gw 12 c. G 2
d. egeesr e. alewL Gxflwaledensy

1-3x 1
35.1f (EJ = (%T then find the value of x.

a. 41 b. 31 c. 21 d. 11 e. Answer not known
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1-3x 1
j :(%jz GTedlled X -63T DI HIT6uTH
a. 41 b. 31 c. 21 d. 11 e. alenL O fwalsenev

36.How many squats are there in a standard chess board?

a. 64 b. 128 c. 204 d. 256 e. Answer not known
QRH FHITHIS LVmBUIED 615HHMeT FHITHIG6T B (HHEGLD?
a. 64 b. 128 c. 204 d. 256 e. alewL OFflwaisvensv

37.Under the Indian Citizenship Act 1955, one can acquire Citizenship by
(i) Birth
(ii) Descent
(iii) Marriage
(iv) Registration

a.ionly b. ii only c. 1,1l and iii

d.i, ii and iv e. Answer not known

@hHws  Guuflenod  FULb  1955-61 S @HUT DHHWS  GQLEITS
B6u6001(HOILOGIIBITED

(i) SpHureied Liphpss GouewiBLD

(i) @bdHwu eubsmeueiwns Smess Geuemi(BLD

(iii) ObHweny enibHH([HBHE Geuemi(BLD

(iv) oyuiomwssrsl ufe CFLIHHSS CouamsiHd

a.i LG b. ii " @B c.i, il w@mmd iii
d.i,ii wBpid iv e. alewL OFflwaisvensv

38.In which year the preamble of the Indian constitution was amended?
a. 1956 b. 1966 c. 1976 d. 1980 e. Answer not known
abhd Suewih BhHw DFFwevenioliler (WaLLeT HHHHD Gguiwiiil L g ?
a. 1956 b. 1966 c. 1976 d. 1980 e. alewL Gxflwalsdensy

39.Match the following
A. Manram 1. Common place
B. Saptanga 2. Administrative unit
C. Enperayam 3. Meeting hall
D. Podiyil 4. Seven limbs
A B C D
a 3 4 2 1
b. 3 2 1 4
c. 4 3 2 1
d 4 2 1 3
e. Answer not known
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QUT(HHSHISH:
A. eiIBLD 1. Qurg G 1b
B. gluismmhist 2. HiTeUTs GAp
C. erem@uymuiid 3. n(bemd BLSHHID SL LD
D. Qurgluied 4. gup Ufleyse

A B C D
a. 3 4 2 1
b. 3 2 1 4
C. 4 3 2 1
d 4 2 1 3
e. alewL G flwealsdensv

40.Find the compound interest on ¥ 1,000 at 10% per annum for 2 years

a.¥190 b.¥210 ¢c.¥1210 d.%200 e. Answer not known
oiFe0 I 1,000:53 10% oewih  euliguisd 2 UGB EHHEG DMLSGD gnl (H
QUL 1QeMUISH  BHTENTS.

a.3190 b.X210 ¢c.¥1210 d.%200 e. ol Gafuialsvensy

41.The population of a town is increasing at the rate of 6% p.a. It was 238765 in the

year 2018. Find the population in the year 2020.

a. 286276 b. 268276 c. 248274
d. 268876 e. Answer not known
QH BBIIHH  0EH6T OHTd ewihHGH 6% DHsMSEBH. 2018-uD  ewi(H
EH6T  OFTemas 286276 — HF DHHSSH  6lefled  2020-9LD  HLEWIQET  LDSHBHEIT
OBHTMHMWIDH HIT6wIH
a. 286276 b. 268276 c. 248274
d. 268876 e. alenL Oxflwalsdenev
42 Match the following
A. Quinton de-kock 1. Styrian Grand prix, 2020
B. Valtteri Bottas 2. La Liga Champion, 2020
C. Lewis Hamilton 3. Cricket-South Africa National Award
D. Real Madrid 4. Austrian Grand Prix 2020
A B CcC D

a. 3 4 1 2

b. 2 3 4 1

C. 1 4 2 3

d 4 1 3 2

e. Answer not known
gilwmeieuBens CLIT(HSHSHIH:
A. @l e 19 HTH 1. evoemLflwiesr &lpmemi LTfdberd, 2020
B. sumeo@GLM Gurm_Lerd 2. oo &dam Gawiweir, 2020
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C. eSaford amiiledL 6t 3. AMB0sL -0xh6ar ouiifles Cadlw almal
D. fwed Gol ML 4. sevoigfluien &lymemi Lflderd, 2020
A B C D
a 3 4 1 2
b. 2 3 4 1
C. 1 4 2 3
d 4 1 3 2
e. alemL G Mualevenso

43.Phase-I of the Chennai Metro Rail project covers a distance of
a. 25 km b. 35 km c. 45 km d. 55 km

e. Answer not known

Ogaiemer O Gymr  Qruied L HHeT (PpHev &L eidhHewennr HGeom O LT
OsmemrL_gi?

a.2b b. 35 c. 45 d. 55

e. alemL G flwalsvenev

44.Choose the right answer:
i. India League founded in 1843
ii. British India Association founded in Bengal in 1875
iii. India Association founded in 1876
iv. Poona Sarvajanak Sabha setup in 1878
a.ionly b. ii only c. iii only d. iv only
e. Answer not known
gilwmer alemLenw CHMHoHHS:
i, BhHw 656 oybibsul L aumLD 1843
11. RIS QHFHU FRSD URSTETSHDHE 1875 SUIDLISSUILLL .
iii. @b Frsbd 1876 Sybidbaliur L g
V.  yenm gnieuggend FUT 1878 60 SeMIDSHBLILIL L F).
a. 1wl @ b.ii @G c.1ii L G d.iv wl @G
e. alewL G fwalsdensv

45.The Hindus and Muslims as “Two eyes of a beautiful bride of India” was

described by
a. Sir Syed Ahmad Khan b. M.A. Jinnah
c. Aga Khan d. Syed Wazir Hussain

e. Answer not known

ObhFHIBEHD OBBID  (Per0eSIDHEHD  DbHFHUl  ewill  GuewTenlel  SipHTeT @6t (h
HEWIH6I 616 61U(hH600T HGHEUIT

a. g1 gWsl SOIBIDH BTG b. M.A. e3eiteorT

C. SIBT BTG d. sulg eudlTameenaei

e. alewL G fwalsdensv
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46.Consider the following statement:

(1)
(1)

Beti Bachao Beti Padhao Scheme was launched in Cuddalore
Beti Bachao Beti Padhao Scheme was launched in Dharmapuri because
Child sex ratio is the lowest in the State.

(iii) Child sex ratio for Tamil Nadu is 943/1000 in 2011 census.
(iv) Child sex ration for Dharmapuri is 647/1000 in 2011
Among the following statements, which are correct?

a. 1 and iii are correct b. ii and iv are correct
c. 1, ii, iii are correct d. iv alone are correct

e. Answer not known
Leteu(pld SniBensm SJTuIS

(1)
(i)

(iif)
(iv)

Guly usBam Guily uBsT FH LD sLsumfled SHleumIBLILL L S

LMHeVSHHCBW  GHend uTele alHHD GoBUTS 2 6iTenHTe0 ST flufled
Guly usBsm Guily UBsHT H LI HleUnmEBLIUL L I

2011-60  SHIODBTL 1960 GWHWS UTelar aldpd  943/1000 10HH6T  OHTeNSD
BT HOBHBLILND  6TTLISTGLD.

2011-60 GWHmS UTeder alFHd HTwofluled 647/1000 eus B HEH MBS

a.iwmpd iii gl b.ii w@pid iv g
c.i,ii wompid & d.iv @b
e. alewL G fwaledensv

47.The value of 1 hp in terms of watts is

a.726 W b. 736 W c.746 W d. 756 W
e. Answer not known

oML Ig6dT Bemrddbliged 1 hp-uflesr iy _ uELb.

a.726 W b. 736 W c.746 W d. 756 W

e. alenL G fluwalsvenev

48.Sun spots occur after every years.
a.15 b. 11 c. 21 d. 10 e. Answer not known
@iw yetefleeT __ ouewiBsE @b (B gBLGLD.
a.15 b. 11 c.21 d. 10 e. alenL Gxflwaisdenev

49 Demonetization means

a.
b.

C.

d.

e.

It involves introducing a new currency in the economy

It involves reducing the official value of a currency in relation to other
currencies

It involves stripping a currency units of its status as legal tender

It involves increasing the official value of a currency in relation to other
currencies

Answer not known
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LIeRTSHSHI6 DFHIHLS FHmBHHe0 alendamLd

a. QUTHMTHTISHSHD LGHul BreuilHms DS(WSLILIBGSHSHINS

b. BB ETIWIWRIGEHL G  COHTLTL®LW  HIeWWSHeT  HFSTILLT  oienL
GSDBULSI

C. @ BTl FUL(pedB CUBI, DIHET HMeVENU DIBBMIAINDH 266 HEHUIG).

d. BB HEIETWLBISEHLET  OBHTLTLMLUI  HTIWSHST  DHSTILIYTal DS IHL
SIFFAILnS 2 _6iTen_SHHuig)

e. alemL G flwalevensv

50.Which of the following is not the main achievement of MGNREGS?
a. Increasing employment opportunities
b. Financial inclusion
c. Enhancing wage earning and impact on minimum wages
d. Irregularities in implementation
e. Answer not known
&6 syl (petemeupmien e1i MGNREGS -uier srgenen ©je060?
a. Geuemev eumTUINILlenenT DIHBLILIBGHHIH6L
b. o eenmmébs HHuID
C. GMBHILLF dmellen! DIFHBLILBGSHSHIH60
d. poL(pmBUBGSHHIHO60 2 66N QUOBIBMBB HETENLD
e. alemL G flwalsvenev

51.”“That is land that yields increase .....” What is the message in this Thirukkural
a. Policies of a best country b. A country’s Resources
c. Problems in a country d. Policies of a bad country
e. Answer not known
“BTOL 6L BTLT 6UTSHH~ 6B GHMaTed FnBlL@p Cguig)
a. [BeL6L BT IgMHTET BeVHBEWID b. BT 1963 6u6rLD
C. BILIged gBUBL HWIG d. sw BT YBETET Bevdd6mTD
e. alenL G fluwalsvenev

52.“Those who've helped you in distress” - What kind of friendship
Thiruvalluvar mention here?
a. Friendship of Learned Person
b. Friendship of Cruel Person
c. Friendship of Wise Person
d. Friendship of a person who helped you in your troubles
e. Answer not known
‘allpop HMLSHHAUT B — 66l aUeTEheaUT Oligemawl bHlemud GBUIGHSmmT?
a. smemmT B b. e OBTHSSHMT BHLL
C. smeGmmT B d. sieb BoHdw HeoGeorT B L
e. alewL G fwalsdensv

14 | P a g e APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




| APP€ L1 |

CHENNAI

53.A alone can do a piece of work in 10 days. If B alone in 15 days. They
undertook work for Rs. 2,00,000. The amount that a will get is
a. Rs. 1,20,000 b. Rs. 90,000 c. Rs. 60,000 d. Rs. 40,000
e. Answer not known
A aeaim HolCw @ Geuemevenws 10 preTsefleud B eyeeut HeflGu 15
BreT&elled (pLLT. SeuTselT @bhs Gouemevenwt h. 2,00,000 OCFHTnsEHE @LILS
CamewTLalT eiedilew, A GQUEID OFHTensd SGLD.
a. ep. 1,20,000 b. em. 90,000 c. ap. 60,000 d. em. 40,000
e. alewL G flwealsdensv

54.A and B can do a piece of work in 12 days; B and C in 15 days; C and A in 20
days. How many days will finish it together.
a. 47 days b. 10 days c. 23 days d. 360 days
e. Answer not known
A oBpd B @m Gaumevenw 12 prisefed Osuiw apguid. B g C 15
BT seMed, C wmmid A 20 Bl sefleid QFUIWL (LPIQUIGLDGTBIE) DICUTHET 615 3HEN60T
BT H6IM60 DINSH QEMBTHF CFUIHI (LPIQLILITTEHENT.
a. 47 pm aeir b, 10 B sei C. 23 BT &6l d. 360 B et
e. alewL G fwalsdensv

55.ISRO launched a special programme for the school children titled
a. Young scientist programme b. Childrens science programme
c. Youth programme d. Special Childrens programme
e. Answer not known
£9.61610.94T. LI6TT6N  GHLHMBIEHSHITH gBLBHIH W FBL HapFfulear Hemeoli
a. Benmd eNehehTenNobdsTen HoHpFS b. GwhmasEpssTE Sflalluied BEpFS
C. OM6NEHTHeT HlBIDF d. dmiiy GwhmasseT BB
e. alemL G fluwalsvenev

56.From the given list of tribes identify which is the largest tribal group found in
India
a. Gonds b. Santhals c. Nagas d. Todas

e. Answer not known

CaThdHalulBeten  UPEIGQUIeTT Ul uilwedsl(Bhhsd GphHuraled DHS Dlenalsd
STl ILBD UmIGlpuilend 61gGleueT &6l pls.

a. GaTewIL e b. anhselmer C. [BTHTH6I d. GamLitmeit

e. alewL G flwalsdensv

57.Choose the expansion of NITI Ayog?
a. National Information and Taxes in India
b. National Institution for Trade in India
c. National Institution for Transforming India
d. National Integrated Trade Institute
15| P a g e APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




e. Answer not known

aTILISHE allfleuTessld 6T6wT601?

a. National Information and Taxes in India

b. National Institution for Trade in India

c. National Institution for Transforming India
d. National Integrated Trade Institute

e. alewL G flwealsdensv

58.Human Development Index is based on

a. Life expectancy b. Infant mortality c. Death rate

d. Birth rate e. Answer not known

weld Gubur’ (s GBIUIG Bd SIGLILML WTHS CBHTeRIH SIS BSHI
a. eumppn® b. Gwbms bl c. 8ol eigd

d. sy eisid e. alenL O flwalsdenev

59.Which among the following is the function(s) of Food Safety and Drug
Administration Department of Government of Tamil Nadu?

(i) Licenses for manufacture of cosmetics

(ii) Licenses for manufacture of Allopathic Drugs

(iii) Approval of Blood Storage centre
)

(iv) Licenses for Approval of Laboratory
a. (i), (ii), (iii) and (iv) b. (ii), (iii) and (iv) only
c. (ii) only d. (ii) and (iii) only

e. Answer not known
LT63T61 (6 60T6UMB MG SHLODS DI G LI ) LITGHISTLIL LOBBILD DGIE
piTeurssHHImBuller GaweduT®(s5e6T) 61g?

(i) owpe Fraearl QUIBL &6 2 BusHHHE o Mo SieMdsHe0
(ii) ©BeuTid (HHHIBET 2 BLSHHHEG 2 M SieMssHe0

(iii) Bs Cailiy mOWSSHHEG GLLSH D6eMHH60

(iv) SpUIIsESEDSES @LILSH LBHpId o fion oiefshsed

a. (1), (ii), (iii) @b (iv) b. (ii), (iii) Bpid (iv) only
c. (ii) L (B d. (ii) wibmnb (iii) only
e. alenL G fluwalsvenev

60.15% of 25% of 10,000 is

a. 375 b. 400 c. 425 d. 475 e. Answer not known
10,000 @1 25% wHinler 15% eraig) LG ID.
a. 375 b. 400 c. 425 d. 475 e. alewL Gxflwaledensy

61.The income of a person is increased by 10% and then decreased by 10%. Find
the change in his income.
a. 0% b. 1% c. 10% d.100%  e. Answer not known
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RHOUHEML U QUHLOTEID DIHBMNHBH DS GHMOBHHH. DIGUHML U 6U(HLOTEITSHSH 60
gMULL LOTHBBLD 61656 FHATHLD

a. 0% b. 1% c.10% d.100% e. alewL Gxfweaisvensy
62.Match the following

A. Rig Veda 1. Sacrificial formulae

B. Yajur Veda 2. Hymns

C. Sama Veda 3. Spells and Charms

D. Atharva Veda 4. Chants and Melodies
A B C D

a. 1 2 3 4

b. 2 1 4 3

c. 3 4 2 1

d. 4 3 1 2

e. Answer not known
BB 2 _siemaumens CUIT([HEHHIS.

A. flé Geugld 1. wrslb GFui(pens

B. wgget Geugld 2. UL 60&e6IT

C. gmp Geugld 3. OMhSHIFSHLID

D. oisiteu Gougld 4. BTHBHMeNH6T BHILD 6ILO6VESEHTF SH6iT
A B C D

a. 1 2 3 4

b. 2 1 4 3

c. 3 4 2 1

d. 4 3 1 2

e. alewL G flwalebensv

63.Who wrote Novel about Devadashi?
a. Bala Saraswathi b. Ramamirtham Ammayar
c. Nagarathinamma d. M.S. Subbulakshmi

e. Answer not known

Cxpeoumpmdl UBB HTEUEL eSS WTT?

a. Umev gJeroeud) b. ymomAiTHD SbenLOWITT
C. [BTHIHIH GIDLOT d. enb.ererd. &ijevl &id
e. alenL G Mualevenso

64.Assertion (A) : Moovalur Ramamirtham was the founder of an orphanage
‘Avvai [llam’.
Reason (R)  :She was a strong follower of Periyar.
a. Both (A) and (R) are true and (R) is the correct explanation of (A)
b. Both (A) and (R) are true and (R) is the correct explanation of (A)
c. (A) is true and (R) is false
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d. (A) is false and (R) is true

e. Answer not known

gmml (A)  : cpeugT @ITOTOHSD Di@mend alBHULTHT Disimal Be060HMB
B3I 6T

aryenrd (R): oeut Quiflwimfler gSeuy FLiT.

a. SaBml WBHID STFewID &, SMJewD Fa@BedB 2 BISHLIBGHHISHBSI.

b. #Bml wBmID SMyewid Ff, STFID FmBLIGEG CUTHHHLM6V.

C. &a@mm &M Syewid Heuml

d. aBm seum sryewid g

e. alemL G Mualevenso

65.Find the term which does not fit into the series below:
1CV, 5FU, 91T, 15LS, 170R
a.5FU b.15LS c. 9IT d. 170R e. Answer not known
&Bp GaThdsiul Berenm QHTLMed CGUTHHSTH 2 BIlInLIS SHTEHISH.
1CV, 5FU, 91T, 15LS, 170R
a.5FU b.15LS c. 9IT d. 170R e. alewL OQFflwalevenev

66.Replace the letter by symbols as + for A, - for B, x for C, + for D, find the
answer for the pattern 4B3C5A30D2 by doing the given operations.
a.3 b.4 c.5 d.0 e. Answer not known
A 8531 udHed + eaiayd B @d@11 uded - aamad C @&@U udHed X eeeyd D
BB uHed + e@ad IBHHES OCdTewimed 4B3C5A30D2 eei3  ©jewiolilest
allenL_emUIs  BHIT60Ib.

a.3 b. 4 c.5 d.0 e. alewL O flweaievensy
67.Select the followings tax is not a direct tax?

I. GST II. Wealth Tax III. Gift tax

a.l only b. I and II only c. Il and III only d. IIT only

e. Answer not known
spdewiL aufl Gmrg eufl ©i6060
. sys@ wBnb Csemer eurfl

II. Qsng g eufl
III. OsrenL  eurfl
a. I o’ @ b. I wmmub IT 1" Hid c. II womnd 1T o1 (b d. III w1 @b

e. alemL G fualevenso

68.The rivers are called perennial rivers.
a. Peninsular rivers b. West flowing rivers
c. East flowing rivers d. Himalayan rivers

e. Answer not known

AUMBBTSH HSH BT GBS BLILL HInlQul [HIH&H6IT

a. FUBMBL [HFB6iT b. Gubg Grred UMD BB H6N
18 | P 2 g e APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




C. Hd@& GhThd UTUD HA D6l d. Swmeows pH®6I
e. alemL G Mualsvenso

69.Where Arasur mountain is located?
a. Easter Kerala b. Eastern Gujarat
c. Western Andhra Pradesh d. Western Tamil Nadu
e. Answer not known
DITGT L0660 DieLDbHHIeTen LITEHFLOTEIS]
a. dpsha Gmyenmm b. Hwse G2JITH
c. CuBe SHATULIPCHFID d. GuoBe HWOWHTH
e. alemL G Mualevenso

70.Sir Martimer Wheeler discovered a Roman factory at

a. Adichanallur b. Arikkamedu c. Kaliyur
d. Kanchi e. Answer not known

Gymomeiw OHTHBFTeN6VemUI LOTTIQOT 6f60T HBIBLIQHS S LD

a. SLFFFHEOSITT b. oMéstGwH C. HerluyT
d. srehd e. alenL G flwaisdenev

71.The oldest Dravidian language
a. Kannada b. Malayalam c. Tamil d. Telugu

e. Answer not known

SHymall  GLoTHSEHeT LILDEDLOWITEIHI 6157

a. HEIGILLD b. weneowimend C. SO d. Oz
e. alenL Gz fluwalsvenev

72.What is the smallest 5 digit number that is exactly divisible by 96 and 120?
a. 10608 b. 16008 c. 10080 d. 18600
e. Answer not known
96 w@mid 120 g Ful eemidenTed FHWTE QUGULS dnigul 10BFFRW 5 Bevdhd  6T6wT
67607601 7
a. 10608 b. 16008 c. 10080 d. 18600
e. alenL G fluwalsvenev

73.Find the L.C.M. : (2x2 - 3xv)?, (4x - 6y)3, 8x3 - 2713
a. 2%x3 (2x - 3y)? b. 23x2 (4 x2 + 6 xy + 9?)
c. 23x2 (2x - 3y)3 (4 x2 + 6 xy + 9y?) d. 23x3 (2x - 3y)3 (4 x2 + 6xy + 912)
e. Answer not known
18.8.10. smewis: (2x2 - 3xy)?, (4x - 6y)3, 8x3 - 2713
a. 2%x3 (2x - 3y)? b. 23x2 (4 x2 + 6 xy + 9?)
C. 23x2 (2x - 3y)3 (4 x2 + 6 xy + 9?) d. 23x3 (2x - 3y)3 (4 x2 + 6xy + 912)
e. alemL G Muwalevenso
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74.Which one of the statement is correct regarding Krishna Devarayar and

Portuguese relationship

I. Albuquerque was the contemporary of Krishna Devarayar

II. Albuquerque sent Louis to the court of Krishna Devarayar

III. Many Portuguese traders settled in Vijayanagar city during the period
Krishna Devarayar

IV. Portuguese sometimes granted contributory assistance to the Vijayanagar
empire.

a. I only b. II only c. III only d. I IL IIL, IV

e. Answer not known
SPHWIL  FampiFHeiled  SHmagewt  CHeaumwimebGd  CUITHHISFWIHBSGHID 2 6iTen
© Mo sHmeTs GHBHH FmBBIBeTe0 FMwTeT SnBml 6157
I. oousTes Hmagent Chaugmuifler FIOETEOHHMT HLEITT.
II. opusts Hmagenr GCpapmwiflar opFmas@ euled e  UTHTWTED)
SHITHIOTTH
SIDILILN 60T,
III. GunitdasFlw eueniaTamer Smagent CHeugmuwiit HTeudhHled alMUIBSIHH 60 Hhid)
BB,
IV. GuniggidAwimseT alQUIbs] SIF&idHE UL 2 _Hal CFUIHemenTiT.
a. [ o Bio b. II ot (b c. III " (Bib d. I II, III, IV
e. alemL G flwalsvenen

75.Which of the following statements are true about Alan Octvian Hume?

(i) The father of Indian National Congress

(ii) An eminent Economist

(iii) President of the Lahore Session in 1893

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

Slevert HCLalwer afluylb BB saBpseiled 61gh 2 erento?

(i) @pHw Cpdlw sthdTafsr FHhmd

(i) @ Fpbs GUI®ETSTY BLjGwIT

(iii) 1893 B6v eUTaWT SiOTETEHT HENEVEUT

a. (i) @ b. (i) wBpb (iii) o Gib c. (1) wmmid (ii) L G
d. (ii) wbmub (iii) . G> ~ e. el Ggfluealsdamev

76.The ratio of 10th and 14th term of an A.P. is 8 : 11 then the ratio of 6th term to 16th
term is
a.3:8 b.5:7 c.3:7 d.2:5 e. Answer not known
am A.P.e0 10t wmpid 14th o minsefer eldlsn 8 : 11 aeied OiEamI HOBTLTe0
6™ wppib 16™ 2 g selear aldsb
a.3:8 b.5:7 c.3:7 d.2:5 e. alewL Gxflwaledensv
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77 .Find the value of 1 % of 200.

2
a.1 b. 20 c. 50 d. 100 e. Answer not known
200 ®ev 1 Yond BTN,
2
a. 1 b. 20 c. 50 d. 100 e. alenL GaMNuwaledenso
78.Match the following:
Name of the Initiative Year of Initiation
A. Human Development Index (HDI) 1. 2000
B. Gender Related Development Index (GDI) 2.1997
C. Human Poverty Index (HPI) 3.1995
D. Millennium Development Goals (MDG) 4.1990
A B cC D

a. 1 2 3 4
b. 4 3 2 1
C. 3 2 1 4
d 2 1 4 3

e. Answer not known
SLDHETL_UBenB  CILIT([HSHSHIH:
GBUI 16T U ® (HeUTHBLILLL  SLeRI[H
A. weflg Guwur' G @pBiuie (HDI) 1. 2000
B. umefenr-GamLumer Guwwum’ G @Buie (GDI) 2. 1997
C. wafls eupewwo @pluie (HPT) 3. 1995
D. eyuigoremip Gl @ Sevée (MDG) 4. 1990
A B CcC D
a. 1 2 3 4
b. 4 3 2 1
C. 3 2 1 4
d 2 1 4 3
e. allewL  OFflwaledensn

79.The sources of Non-Tax Revenue are
I. Earnings from public enterprises
II. Escheats
III. Sales tax

IV. Cess
From the above which are correct answers?
a. [l and III b.land IV c.land II d.lITand IV

e. Answer not known
oufl gmgm  euHEUTUIGT LBHTIMHISETT6U6IT:

I. QuTgls FiemB BHBieUETHIBETET GUTHEUTUISHENT
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II. ogewr Sreme
II. eIBuener eurfl

IV. Ggerd
GoBev FHewILeuBMIGT 6Teme &FMWITeT allenL &6iT?
a. [T wpmw [T b. T wpgw IV c. [ wmmid 11 d. III w@und IV

e. alewL  OFMwalsvensn

80.Who gave “Atchayapathra’ (Perenial vessel) to Aaputhiran?

a. Sindha Devi b. Manimekala Deivam (God) c. Kannaki
d. Madhavi e. Answer not known
SUSHIDISS S UTSSTD SieflgHHeuT?
a. dpsT Bxhal b. weniGwaseor G uieuDd C. BHewTGmIE
d. wrgpel e. alenL O fwalsvenev
81.Find below the text not written (Sang) by Namazhvaar?
a. Thiruvirutham b. Naanmugan Thiruvanthathi
c. Periya Thiruvanthathi d. Thiruvaimozhi

e. Answer not known

SLPSHSHTemTLIEUBSIEL [BLOLOTLDOUTT LUMTLTSEH [HIT6D

a. FHmalmeHHId b. mprepsest HmaubHTd c. Quiw FHmaubsrd
d. FHmeuruiGomg e. alenl. Oxfwailsvenev

82.A Principal becomes Rs. 10,050 at the rate of 10% in 5 years. Find the principal.
a. Rs. 6,500 b. Rs. 6,700 c. Rs. 6000 d. Rs. 3,350
e. Answer not known
@ GPUICL  Oatewaswreim 10% ey eisb 5 euemiGsendd  @5.10,050
HML_HHBH 6Tll6L HIF6L 61611616167
a. . 6,500 b. em. 6,700 c. em. 6000 d. . 3,350
e. alenL  OFfluwalsoensv

83.Calculate the simple interest on Rs. 7,200 at 12% %per annum for 9 months.

a. Rs. 962.4 b. Rs. 800.3 c. Rs. 784.2 d. Rs. 688.5
e. Answer not known

. 7,200 -6@ e 12%% allly e aiHHHe0 9 THBIBEHSBTET Heoll Al 19

SITCU01 5.
a. . 62.4 b. em. 800.3 C. eh. 784.2 d. em. 688.5
e. alowL  OFMwalsdensn

84.Dr. Shantha, Chairperson of Adyar Cancer Institute was honoured with Padma
Shree Award in the year

22 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




| APP€ L1 |

a. 1984 b. 1986 c. 1998 d. 2002 e. Answer not known
SiemLwimt  UBpICHTL HineuaisdHear HmevalT LISLT FIHIHT DIeUTHEhdHE 6hd
e uSHwNF all(hEH aUPHISIILL L &I?

a. 1984 b. 1986 c. 1998 d. 2002 e. alenL  OFflwailsoensv

85.The national aquatic animal of India is
a. River dolphin b. Sea horse c. Dudong d. Sea lion
e. Answer not known
Sphywneler Chfw mieurp o ulifled
a. Bl LmeoLles b. sLe0 GFmy C. BHLO LG d. sLed Hmisid
e. alewL  OFMwalsvensn

86.Arrange the following events in chronological order:
(i) Swadeshi Movement (i) Home Rule Movement
(iii) Non-Cooperation Movement (iv) Civil Disobedience Movement
a. (i), (ii), (iii), (iv) b. (ii), (iii), (iv), (i)
c. (iii), (iv), (i), (ii) d. (iii), (ii), (i), (iv)
e. Answer not known
LNeiTaU(HLD HIBLDO BT SHTeO(LemBLILIY LI 19uIedBs.
(i) 58z Bwissld (ii) peiter & BuibasLd
(iii) @HSIMPWITEND BUldbLD (iv) sLL wpii] Buissid
a. (i), (i), (iii), (iv) b. (ii), (iii), (iv), (i)
c. (iii), (iv), (i), (ii) d. (iii), (ii), (i), (iv)

e. allewL  OFflwaledsnsn

87.Why the Pudhu Vaazhvu Project is launched?
a. To eradicate poverty b. To reduce employment opportunity
c. To decrease economic growthd. To help the rich people
e. Answer not known
U&l eumpeyd S LD geit OFHTLmIsIILL L &)?
a. auBENLEmUl GLOGHFHED b. Gauemev euTUILIENLI GBS H60
C. QUIHBEMTHTY eUeMTFFMU GHMBHH d. LSBT THEDHE 2 H6|H6e0
e. allewL  OFflwaledenso

88.Tamil Nadu Water Resources conservation and augmentation mission is
launched due to
a. Construction of New Dams
b. Utilising the scarce water resources for the maximum benefit of the people
c. To control the industries to use more water
d. To monitor the water supply
e. Answer not known
“SODETG  BHTewem  L&HTIL uTgisTIY  wBpd BT GweoTewieny  BuIssD’
OHTLMRISLILIL L H6iT ChTehaLd

9
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a. yHw Sienentsell &L (Hheudl

b. imdeumd BT aleNHIGmeN, DHH6T CLIHLTENED [HETENLOUIML WD 6ueNHUT 60
LWSTUGSHIL. 6uend GFUlaIG).

C. OBTPBFTMEVSHET DIHFH6Me] BT LWSILBGHBHIUMHS S BHULGSHSHISHED

d. sevieniT alBCWITEHMS BeIHTamN HH60

e. alewL  OFMwalsvensn

89.Consider the following statements :
I. CO, is green house gas, it increases global warming
II. CO; absorbs infrared radiation
Which of the statements given above is/are correct?
a. I only b. II only c.land II d. Neither I nor II
e. Answer not known
LNeTeU(HLD FMBBIBHEMET H(HHH 60 OHT6ITH.
I usemip ®evev aumuy, © 60H GAIILTHMED DIFHBNHH MBS
II. sis5daniy aHT aiFssenen FioHg C@TeTHBSHI.
GumampfweuBmien Filwimengl eigl/ eTeneu?
a. o @ b. IT o1 Bib c. I wommub IT d. I SIVF] II
87 6w1(HLO6VLEV
e. allenL  OFflwaledsnso

90.The Indian Parliament adopted the Scientific policy resolution in the year
a. 1960 b. 1959 c. 1958 d. 1957
e. Answer not known

@hHw  UTITEHLSBHIHe0 DPlalued OCFTeiensd SHTOTHID  6hEH eI gBBIdH
OameitemiiLl L g)?

a. 1960 b. 1959 c. 1958 d. 1957
e. allewL  OFflwaledenso

91.Under Art 78 of the Indian constitution it is the duty of the Prime Minister to
a. Communicate to the President all decisions of the council of Ministers
b. Communicate to the parliament all decisions of the council of Ministers
c. Communicate to the Supreme Court all decisions of the council of Ministers
d. Communicate to the comptroller and Auditor general of India all decisions
of the council of Ministers
e. Answer not known
@bHw  ofweoemwlig  FULHHT  T8-uFH  FTHIST S umgHl  Lgsiofes
&L MDULITHF OFTeLOLILI(HoISI
a. HIMWFFTULIGT DIMHH! (LPIYAFHMETUD GRUWTHS HMeVaU(HHGHSH OFHTaldhsHe0
b. SimwFFTmMIUIGT DM@THSHI (LPIQOBMETUD LITITEHOSIBEHHBGHS 0FHfaldhsmed
C. HIMDFFTMUUIT HMASHEH (LPIPeYSMETUILD 2 F&F BHHOaIBHHBESGHSH OFHTalsHse0
d. oimwFFTemauuie SmaTHdHl (LPIQeB6MUID BbHUId HERISBTUIT LDBHBID

HMEVMLDS HenllHmaWfLLD CFHTaldhaHe0

24 | P age APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




| APP€ L1 |

e. allewL  OFflwaledenso

92.Fundamental duties were added to the Indian constitution by which
amendment?
a.12th b, 22nd c. 32nd d. 42nd e. Answer not known
abhd FHHSHISHIHT cpevld SigliLienL. 2 _MenosdeT @hSHUl DFFweveniolil] &L L SgHlev
GaiTa I I19(HEHBSHI?
a.12 v b.22 b c.32 b d.42 v e alewL GaMNuwaledenso

93.The third session of the Indian National Congress was presided by

a. A.O. Hume b. Annie Besant c. Fakruddin Dyabji
d. Dadabhai Naoroji e. Answer not known
epSIBTaus BhaHul Cadlul smmigyerd LOTHTH SHMELMLOUTEL [HeDL GILIBBSI.
a. A.O. anSuyib b. oieel Gugen C. udbehHeT Huimig
d. sremumyl GpenGyre) e. alewL Gafwaledenso
94 . Thirunangaigal (Transgenders) - Who has written about them in
Puthukavithai (free verse)?
a. M. Rajendran b. N. Kamarajan c. M. Mehta
d. Abdul Rahman e. Answer not known
SH(ppmmesme LBK Lgpidsalmsbulled umouient wmr? GBlLlGs.
a. 5. gnGeybalyest b. Br1. SmwogTeges C. (. Cugsr
d. @iig6d FeamibTes e. el GaMNuwaledenso

95.1f the radii of the circular ends of a frustum which is 45 cm high are 28 cm and
7 cm. Find the volume of the frustum.

a. 48510 cm3 b. 48501 cm3 c. 48105 cm3 d. 48511 cm3

e. Answer not known

45 Q&5 2 _wgapeen T GenL & HMILHHeT S LB Jmisen (pwenpGu 28 Gg.Lf.
BmID 7 OF.15. 616160, EenL HHEWIL SHH G H6T DIGNN6UDH HTEHISH.

a. 48510 @&.153 b. 48501 GF.5 . 48105 Gz.152°  d. 48511 Q&.15°

e. allewL  OFflwaledenso

96.A cubical tank can hold 64,000 litres of water. Find the length of its side in
metres.
a. 6 metres b. 5 metres c. 4 metres d. 7 metres
e. Answer not known
QhH BOFHT eauger BHTH QHTiguimengd 64,000 LT BT GsmeteEnd safled SibHS
T 1puie LUSSSHIET BHenHemd O LMled HTews.
a. 618 b.518 c.418 d.7 e. alew QFfNuialsvensv

97.Under which Article, the parliament has power to give financial assistance to
the states?
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a. Article 235 b. Article 245 c. Article 275 d. Article 265

e. Answer not known

obd elFHulest &HIp, UMTTEHLOMIBID LOTHLVRISEHHEG BHHHal DelbGD DISHSTTD
CuBmIeTeng?

a. algl 235 b. alg 245 c. alg 275 d. elg 265

e. alewL  OFMwalsvensn

98.Who among the following is the first citizen of a city in India?
a. Mayor b. Chairman c. Sheriff d. MLA
e. Answer not known
ObFHW Siemalled SHDHMIL aUTH6T60 LOTHSITL AU (LPHED GIQLOBHET 6T6dTLIGUT WIMT?
a. IBSBITL & 1DGSIE HEMEVEUT b. semeveurt
C. 26MTHZHEM6VAIT d. slLweam o mirnlerr
e. alewL  OFHfwalsvenso

99.Settled type of cultivation is also called as

a. Sedentary farming b. Terrace farming

c. Intensive farming d. Commercial farming

e. Answer not known

Bleveowlmenr eauend GeuerTeustenLo Tl DIMPEBLILIBS B
a. BLallLTsh aleugmuild b. G’ e omg eleusTuib
c. QFdiba (1LpewB ATEUFTUID d. euemils eleusmuid

e. alewL  OFHflwailedenso

100. What is the percentage of pure iron content in Hematite?

a. 60% to 70% b. 20% to 30% c. 50% to 60%

d. 40% to 50% e. Answer not known

GamoemL L aumd B(HILSHTHIHN60 2 66N SGHHLOTn EHLNOT FHaiFHLD 6T6inen?
a. 60% pgev 70% b. 20% a0 30% c. 50% @pze0 60%

d. 40% waed 50% e. alenL O MNuwalsvenew
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